
1/4

MA.0607.799

001/ 17.06.2015

MAX.LOAD: 8kg / 17,6LB

VESA 75VESA 100

left right

A B



2/4

MA.0607.799

001/ 17.06.2015

A.

VESA 100

A.1

A.2 A.3

8x M5x10

4x M4x12 4x M4x12



3/4

MA.0607.799

001/ 17.06.2015

8x M5x10

B.

VESA 75

B.1

B.2 B.3

4x M4x12 4x M4x12



4/4

MA.0607.799

001/ 17.06.2015

1. 2.

3. 4.

2x M4x12 2x M4x12


